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9. (x+1)° = ap + a1 x +asx® + azx® +asx* + asx® ©] xof thgt F5A4d
W, ap + a1 + az + asz + a4 + a5 2] = FoFA?

® 8 @1 @ @u 613

FHol x = 1S i Ydsta,
(1+1)¥° =ag+a+ -+ +as°|B=Z
25 =32




10. oA B 4+5x2 —kx—k 7} x—1 2 Yo HojR &
Satolat

Ch "
H -

>
|> ek g

oH .

ol o QA x =12 tfYstH
1B4+5x12—kx1-k=0
k=3




11.

th2 7oA «C =90°, BM =CM ,
AB =25cm , AC = 7cm ©|t}. o]df,
AM 9] Zo]E?

® VI90em @ VI9lem @) viosem
@ V194cm ® V199cm

~&B

AABC ofA

BC =252 - 72 = 576

-~ BC =24

MO = ;BC - MC = 12(cm)

AAMC oA
AM® =72 4+ 122 = 193
- AM = V193(cm)




12, ohF 94 AC o] Zeole ?

@ 2 @5 ® V6
@ 7 ® 22

AC= VIZ+ 12+ 12+12+12 = v5o[th




sholat,

=E

oA x o] Aoj

14

O
=

13. ¢

32

.

ul




ol

14. tH& oABCD = AE = BF = CG = DH = 4cm ¢ ZAMZ S o)t}
oEFGH 9] ¥o]7} 100cm? 2t1 51, oABCD 9 {ol&=?

D

@ (99 + 15 V21) cm? @ (99 + 16 V21) cm?
® (99 + 17V21) cm? @ (100 + 15v21) cm?
®)(100 + 16 V21) cm?

O

B ~
OEFGH = 100(cm?) %1 Aol B2 FG = 10( cm),
BG =102 -42 =84
BG = 2\/_( cm) O|B2
BC = 2V21 +4(cm)
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